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Expected Learning Students will know and understand
Outcomes o1 S 3R qHS
3mafera JifdeTA

afwer KNOWLEDGE -

AledlcH

Students will able to:
e Define and give meaning of probability
e Understand the concept of Theoretical Probability.
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UNDERSTAND :-
STcHS -

e Explain various terms, such as Equally Likely Outcomes,
Elementary Events, Complement of an Event, Sure Event
and Impossible Event.
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APPLICATION :-
ITAIARcHS

S

e Solve questions based on theoretical Probability.

e Correlated probability with real life situation.
- Tgifas ITRTar 9T 3meaTRa u&aAT & g7 T |
« gRdfae Shaer & ufa & a1y agaeg |
SKILLS- Students will able to
PIRATcHS - BT Pl H T&TH gl

e Developing connections among different terms like chances,
events, trails, sample space etc.

e Different thinking skills while listing total outcomes and
identifying favorable outcomes

e Exhibiting calculation skills and procedural thinking and finding
probability

e Analytical thinking

e Problem solving.
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Learning Objectives
T 3327

The students will be able to:

Calculate the probability of an Event

Calculate total outcomes of the Experiments
Calculate Elementary Event

Calculate Complement of an Event

Calculate the probability Sure Event and Impossible
Event.
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Materials Needed
/Resources

M9 JTHAY /
T

Chalk, blackboard, duster,

Coins ,die

Text Book:

NCERT text book for Mathematics CLASS -X
Reference Book NCERT Exemplar of CLASS-X

T, arar

qTSd YA

AT FaT -X & AT IR 95T s
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Transaction
Methodology

Ad-&eT g

Strategies Used : Inductive Deductive Reasoning,
Think, pair and share, muddiest point discussion

PREVIOUS
KNOWLEDGE
ASSUMED

ITATAT qd AT

PREVIOUS KNOWLEDGE TESTING
qd Her gdator




TEACHER ACTIVITY
et afafafer

STUDENTS RESPONSE
oEr 1 gfafear

Teacher will ask question:

foraTeh weeT qBa:

Students!
Tell me, will it rain in the evening
today?

It means, you cannot give a definite
answer to my question.

You know, tomorrow, there is a
cricket match between India and
Pakistan.

Who will win the toss?

Again, there is no definite answer to
my question.

Will the prices of petrol products go
up next month?

It means, there is again no definite
answer to my question.
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S 1: Sir, it may rain, as it is very hot
today.

S 2 : Sir, it may rain or it may not rain.
Yesterday, it was hot in the morning,
but it did not rain in the evening.

Yes Sir.

S1:India

S 2 : Pakistan

S 3: It may be India or Pakistan. We
cannot say definitely who will win the toss.

S 1: Sir, may be!

S 2 : Sir, prices may go down also.

S 3: Itis also possible that prices may
neither go up nor go down.

These may remain as they are now.
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Demonstration by Facilitator on Board

The Facilitator makes a conclusion by combining all the right answers and further asks more questions to
reach the topic

(Question and Answer Method)
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5E ACTIVITY/CLASSROO | STUDENTS
5% M INTERATION RESPONSE LEARNI | INTRACTIVE
FETT FaT Bat #Y gfafdar NG | BOARD WORK
OUTCO
ELICTIR MES
s S
feeTH
L IGLTC
ENGAGE | So, dear students, there
are some questions, as |
posed, to which it is not Students
possible to give a will be able
definite answer. Each of to make
these questions involve sense out
the word may, may not of what
etc. There is an element they read
of uncertainty in by
answering each of these considering
questions. This how it fits
uncertainty can be with what
measured numerically they
which is studied under already
the topic called Know
probability.
Probability started by
the inquiries of gamblers
to win stakes at games
related to tossing of
coins, rolling of a die,
playing cards etc., it has
been used extensively in oF 39
many fields of physical ST |
sciences, commerce,
biological sciences, freme e
medical sciences, H @atH
insurances, weather g 7 3
forecasting’s etc. oY T &
T : Take a one rupee ST ¢,
coin. Each of you, toss it 38% AT

20 times and note down




the number of heads and
tails

. Each student does this
activity, and teacher
writes number of

heads and tails on the
blackboard and so on for
all the students

How many tosses?

How many times did
you get heads?

How many times did
you get tails?

We may call each toss
of a coin a trial.

So, there are 800 trials,
in which heads are 480
and tails are 320.

& #A qoT, $o uea
& e @fRaa
3caR ol T 18T
gl 398 ¥ yAS g
F g ThaT g, TR
nfe orse enfAer g
SAH A Ucddh 9T I
3cad A H
fAfRaddr &1 dea gl
g AfARadar «r
&AcHS & F AT
ST HohdT & Toraent

e Sodr g
& T &Fr
9ed &

Correlated
probability
with real
life
situation

arEdiash
ShaeT &
ufa &
ary

HgHeE

Define and
give

meaning of
probability

grfehar
el
g
AT 3R
sqeT 37
CRILE]

Studeat Number of beads

Number of tals

20 x 40 = 800

Itis 480

Itis 320
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EXPLORE

Here is a die. Have you
seen a die before?

What more do you know
about a die?

Have you ever seen that
sum of numbers/dots on
opposite faces of a die
IS 7?

Now, every one of you

S 1:1have seen it.

S 2 :We used a die in
playing ludo.
S3:Weuseditin
playing ‘snake and
ladder’ game also.

S1:Itiscubical in
shape.

S 2:Numbers1i, 2, 3,4,
5, 6 are written on its
faces

S 3 : I have seen dots,
on its faces.

No, Sir. Let us check it
in this die.
Sir, itis true




will throw it 20 times
and tell me the number
that appears on the top
of it

Count number of times
‘1’ has appeared ‘2’ has
appeared, ‘3’ has
appeared, ... ‘6’ has
appeared.

How many trials?

gl U qrdT B 2

& &7

g & IR F 39
3R T SEa #2

FIT 39t sl @ &
& o & AT
Helhl X
HEI3/fSig3it 1 AT
7 g1 &2

T T H I g Th

S 1:Sir, 20 x 40 =800
trials.

S 2 : Number of times
‘1’ appeared is 132
S 3: 2 appeared :
times

S 4: ‘3 appeared :
times

S5: ‘4’ appeared :
times

S 6: ‘5 appeared :
times

S7:°6” appeared :
times

Wl:ﬂﬁ'é’@é\'@Ta’I
S$2:8H oS Yol H
gy T gIreT R
S3 : §He UM 3UTNT
AY-TET & Tol 7 T
e

148
120
164
124

112

S1:9g 3hR H
AR g

S2 : 3% Beldl W 1,
2,3,4,5,6 3 Tord
gid Bl

S3 : Hol SHh Tolhl
W fdg < &l

& TTEd| 3T 39
3H 98 H CH|
WIg T &
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38 20 SR Hhenar 3R
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fRag g W& g
el IR '1' gk
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fohdel areqor?

S 1: TX, 20 x 40 = 800
g&ToT|
$2:'1'%h Y&hc gled I
q&AT 132 §

TH 3:'2' gehe E3M:
148 §X

S4:'3'gehe E3M : 120
IR

g 5:'4 fea@rg fea:
164 §X

S6:'s'Jehe E3M : 124
IR

vy 7:'6' ﬁ?ﬁﬂé’ fea:
1129
EXPLAIN Summary will be
written on the board
Head (also written as H) ORI A 9T forEr
and Tail (T) are two
outcomes of the SITUdT
experiment of tossing a
coin.
S1:1,2,3.

In case of throwing a
die, what are the
outcomes?

In tossing a coin,
'getting a head' is an
event. If we toss a coin
and head comes, we say
that event ‘getting a
head’ has occurred.
Similarly, ‘getting a tail’
is also an event. In case
of throwing a die,
‘getting 1’ is an event,
‘getting 2’ is also an
event.

S2:1,2,3,4,5,6

Outcomes
of event

gcdl &
gRome

What is
event

11




What about ‘getting 3°?

T : We denote an event
by ‘E’.

Can you give any other
event associated with the
experiment of throwing
adie?

T : So, there may be
many events associated
with the experiment of
throwing a die.

We define
(experimental)
probability of an event E
[denoted by P (E )] as

P(E)=
Number of trials in
which the event has
occurred
Total number of trials

T : As we have done an
experiment, that is why
we call P(E) as
experimental
probability.

Itis also called
emperical probability
but here we shall use the
word probability

for experimental
probability.

S 1:Thisisalso an
event.

S 2: ‘getting 4,” ‘getting
5,7 ‘getting 6 are also
events of the experiment
of throwing a die.

S : ‘getting an odd
number,’ 1.e., 1,3, 5

S : ‘getting an even
number,’ i.e.,2,4, 6

S : ‘getting a number
more than 2.’ i.e., 3, 4, 5,
6

S : Sir, why we call it
experimental
probability?

Yol a7

Understand
the concept
of
experiment
al
Probability.

EIRIIEICD
AT AT
&Y
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P HHST|
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ECRGERS KK
for@r arar g) 3R 9T
(T) T [ &t
30T & 99T & ar
gRoTe gl

Teh T T thehe T
&ufa &, a1 gRoms
gid g7

T AR &r
3oTe H '™ ured
81T Ueh geaT gl Ife
g Tsh R 3oTea
g 3R R 3mar & ar
§H Fed ¢ [ TId
gred gl gear gfed
gé%lwwﬁg
37T 8 UH T Bl
Teh I Pl Hehel I
Tafa & "1 grea gl
Ueh °UcaT g, '2 ured
giar 8 T gear g

'3 YIod e’ & IR
 Fa17?

S 1: 1,2, 3l
S 2:1,23,4,5,6

S 1: ¥g &Y T gear
gl

S2: '4 gred &L, 'S
YTCd T, '6 JTcd
FT T TH g T
hehel & TIIET T
AT g
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T: &8 frdr gcar i
Ed el wwa &
FIAT 3T I Hl
$ehed F TAET F
Tefed Fis 3T

gcAT 9dT dohd 872

T: 37d:, U T Sheho!
& TN § S 3o
geaATe g ol gl

&7 T& "o E[P (E)
garr RfEad) &
ifdehdT (WTAfaIeh) &t
3H YhR IRHATNT
= &

dr (3) = gdreqon
fr gear FEd gear
g5 & Tl A el

.

gE&aT

T: ST 6 §H T
gaeT foRar §, sdifee
gH P(E) I yraAifarsh
wifderar #ed gl

3 3N
wRehar o @ga &
et Tl gH
qIfAehdT eUse, T
TITeT T

S: 'TavH F&IT gred
T, 3719 1,3,5
S:'Ush TH TEIAT Ured
T, AT 2, 4,6

S: 2 ¥ ¥ gEar
gTed e, AT 3, 4,
5,6

S: WX, &H 34 Ui
AT FAT Fgd &7
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ELABORA
TE

Thus, if E is the event
‘getting a head,’ then for
the experiment of
tossing a coin
Probability of event E,
P(E) = 480/800

I.e., probability of
getting a Head = 0.6

What is probability of
getting a Tail?

T : In the experiment of
throwing a die, what is
the number of trials?

T : What is the
probability of the event
‘getting 1°?

S : Probability of ‘getting
a tail’

= 320/800

S:800

S:ltis 132/ 800

S : If E denotes event
‘getting 1°,

critical
thinking
3TA=AT

cHeh G

Summary will be
written on the board

AR S W) for@r
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T : What is the
probability of ‘getting
2°?

T : What is the
probability of ‘getting
3°?

T: Yes.

P (E)= 132/ 800
= 0.165

S:P(getting2) =
0.185

S : P (getting 3) =

P (E) = 120/800
=0.150

S : Now, I can tell the
probability of ‘getting 4°,
‘getting 5°, ‘getting 6°.

S : P (getting 4) =
=164 /800
=0.205

P (getting 5) = 124
/800 =0.155

P (getting 6) = 112
/800
=0.140

S:Sir, 0.165 + 0.185 +
0.150 + 0.205 + 0.155 +
0.140=1

S:P(H)+P(T)=0.6 +
0.4=1.

16




39 YR, I E gear
T 9T T 8, d
Th Aah F 3OTee
F yaer & fow
T E, P(E) =
480/800 Fr THTIAT

T 885 A fr
gTehdr = 0.6

e YTcd el r
STfehdr T &2

S : Each one is a fraction
less than 1.

S : Each one is a fraction
greater than 0.

S : In this experiment, 7
does not appear anytime.
S : In fact, it cannot
appear, as 7 is not
written on either of faces
of the die.

S : So, P(getting 7) =
0/800

S : Naturally, one of
them will always appear.
S:So,P(1,2,3,4,50r
6) = 800/800

= 1
S: "o 3l
gTiRIdr

= 320/800

S: 800

S : g 132/800 &

S:gfe Egear '1
YTed T I EITdT
g,

Sure Event
and
Impossible
Event.

IGIRGGH
"o 3R
AT
jara !
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T: U 9 F Hehel
F wEr F, geton fir
HEIT fohdeir gidr 87

T:9c¢ar '1 9Icd e

Fr wriRferdr T 87

T:'2 9o e &l
T Aehdl FIAT 87

T:'3 9o &det &l
T Aehdl FAT 87

P(E) = 132/800
= 0.165

S:P(2 YIod H=AT) =
0.185

S:P (3 WItd &) =

P(E)
0.150

= 120/800

S: 379, & '4 yreg
e, '5 YT HeT, '6
gred el hl Tidehdr
T FheTl &

S:P (4 UITd F&AT) =
=164 /800 =0.205

P (5 9Ted &) =
124/800 = 0.155

qr (6 9T &) =
112/800 = 0.140

T §Y,0.165 +
0.185 + 0.150 +
0.205 + 0.155 +
0.140 =1
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T : Find the sum of all
these probabilities, i.e.,
P(getting 1) + P(getting
2) + ...

+ P(getting 6).

T : In the experiment of
tossing a coin, what is
the sum of P(getting
head) = P(H) and
P(getting T) = P(T))?

T : So, we can say that
the sum of probabilities
of all the outcomes of an
experiment is

1.

What else do you see
about each of these
probabilities?

T : So, P(E) is a number
lying between 0 and 1.
In the experiment of
throwing a die,

What is the probability
of “getting 7.

T : Such an event which
cannot happen is called
an impossible event.
Probability of an ¢

impossible event' is 0.

s : P(H) + P(T) =
06 +04 = 1]

S: 9% Th 1 & H
et Tl

S8 UH 0 & &1
e B

S: 59 UIET & 7 T
o gehe LT grar g
S: aEad H, Ig T
g & fRdr #ft el
9 7 =1gr forEr gl

S: ggfelv, P(7 9Ted
FXT) = 0/800

Ty TOIATds &9 b,
375 O U gHem
fears gam

s:sqfaT, P(1, 2, 3, 4,
5 371 6) = 800 /800
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What is the probability
of the event “getting a
number 1, 2, 3,4, 5 or
67?

T : Such an event which
is almost certain to
happen is called a sure
event and probability
of a ‘sure event’ is 1.

Thus, Probability of an
event E=P(E) is a
number such that 0<
P(E)X 1

T: 3T T3 UriReharait
FI IRT ATT HITAT,
377, P(1 9Ted &ha)
+ P(2 9Tcd e +

T: T e &r
3TTell & 9T A,
P(RIT wred &3e) =
P(H) 3iR P(H) &1 T
T &2

P(ITST & T) =
P(T))?

T: 31d:, §H g Fehd
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g & T 9T &
gaft gRomaAT FHir
TS aT3T &l 9T &
1.

AT SAH F I Ah
FATGAT & IR H 3R
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T: 37d:, P(E) 0 3R 1
& &g RBua e
TEIT gl TH GBI
Hehel & GATIT H,

"7 9Ted L Y
TS T 2

T: 08T gear o gfed
AT Hgollal gl Th
I THTTAT

39T gear 0 gl

"Uh AT 1,2,3,4,5
T 6 9 HaT"
oAl hl UTTRAehdl T

g?

T: UHY gear Saer
gfed gleAT STaTdeT
AfRTa & AREa
T gelldl g 3K
GiARET T &
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gifferar 1 g1 &1

SH YhY, Uch YT E

&1 wiRehdl = P(E)
Teh HEAT & o &
0<P(E)< 1

EVALUAT
E

Find the probability that
a number selected from
the numbers 1 to 25
which is not a prime
number when each of the
given number is equally
likely to be selected.

Two different dice are
tossed together. Find the
probability: (i) That the
numbers on either dice is
even. (ii) That the sum of
numbers appearing on
the two dice is 5

EUPEGIRC IR LY
5 1@ 25 d& &1
et 7 ¥ e o
T&IT &1 IIT TohaT
IAT & S AT
TEAT 18T § SIdfeh oF
IS Ycdeh HEAT & ol
STl T FHATT AHGAT
gl

ar 3TeT91-37clT 9TaET &l
T T 3BTl Siam
g1 WiRear AT

22

Summary will be
written on the board
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RECAPITULATION:-
Teacher will assess the students randomly and also through student teacher interaction.

Learners on the way
what is probability ?

Advanced Learners

What is experimental probability?

gergfer
et aradid & AtegH ¥ ) SET FT AT HIA

FAAR Rrameff &
wifehdr &1 §?
gieter Rrameff @
s wRear @ §2

Home work (class-work in the notebook and Coin Activity ,Learners will do the activity and write their
observations in their note books

IE FE (FT H 73 a0 e 3R R afafafy, Ramft afafafr #% i sroeh oot #
el Aegs & fada)
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